Tables for calculating the P.F. correction/MNivakeg urtoAoyLopol SlopBwaoswg cosd

Coefficient K values to be multiplied by the kW values in order to get the

kvar necessary to reach the chosen cos¢ values.

OL TLEG Tou ouvteleoth K mpémnel va oA amhaolactoly pe ta kW wote va

unoAoytotouv Ta kvar ou anattovvtat yia tv §1opbwaon tou cosd

Reactive power values absorbed by MV/LV transformers.
Aepyoc LoxU¢ mou anoppoddte and toug M/Z, MT/XT.

Cosd NOyog evBei§ewv petpnTwv Juvtedeotig K coefficient K Paivopevikni Tdon M/Z oo Tpwrelov
Ratio of meter readings K*KW = kvar 10x0g M/Z Primary voltage of the transformer
(*Ywi/w2 (**) Wr /Wa AnattoUpevVn T cosd (kva) 6+15kV 16 + 30 kV
Required cos¢ value
0,90 0,95 1,00 Transformer AaBI00 = P AaBI00 - p
apparent power LT =npou IO =npou
Vel oil resin oil resin
03 0,292 3,18 2,694 2,85 3,178 (kvar) (kvar) (kvar) (kvar)
0,35 0,212 2,679 2,19 2,346 2,675
50 2 15 2,5
0,4 0,138 2,289 1,805 1,963 2,291 75 3 > 2
0,42 0,11 2,16 1,681 1,832 2,161 100 4 3 5 4
0,44 0,082 2,04 1,558 1,712 2,041 150 6 4 8 6
0,46 0,054 1,93 1,446 1,602 1,93 200 ) 5 10 7
0,48 0,027 1,829 1,343 1,499 1,828 250 10 7 23 9
0,5 0 1,732 1,249 1,403 1,732 300 R 3 5 11
0,52 0,026 1,643 1,159 1,314 1,643 500 20 3 25 18
0,54 0,053 1,56 1,075 1,23 1,559 1000 20 25 50 35
0,56 0,079 1,466 0,995 1,15 1,479 2000 30 50 100 70
0,58 0,105 1,395 0,921 1,076 1,405
0,6 0,13 1,329 0,849 1,005 1,333
0,62 0,156 1,265 0,782 0,937 1,266
0,64 0,181 12 0,716 0,872 1,201 loxug kivnripa kvar
Power of motor
0,66 0,206 1,137 0,655 0,81 1,138 HP kw sy || A0 ) dohD ) @D || S0
giri/mi giri/mi giri/mi giri/mi giri/mi
0,68 0,232 1,078 0,594 0,75 1,078 n n n n n
r.p.m. r.p.m. r.p.m. r.p.m. r.p.m.
0,7 0,259 1,02 0,537 0,692 1,02 5 3,7 1,6 1,6 1,6 2 -
0,72 0,284 0,964 0,48 0,635 0,964 v 22 2 22 22 € )
0,74 0,311 0,909 0,425 0,58 0,909 10 74 3 35 4 4 5
15 11 4 5 6 6 10
0,76 0,339 0,885 0,371 0,527 0,855
0,78 0,367 0,802 0,318 0,474 0,802 30 221 10 10 10 12,5 15
0,8 0,396 0,75 0,266 0,421 0,75 20 o8 i = = 2s 2s
0,82 0,426 0,698 0,214 0,369 0,698 100 73,6 25 30 35 35 45
0,84 0,457 0,646 0,162 0,317 0,646 =0 e X &l @ =0 Lo
0,86 0,49 0,593 0,109 0,265 0,593 200 147 45 50 50 60 80
0,88 0,525 0,54 0,054 0,211 0,54 220 e L o0 C= = =0
0,9 0,562 0,484 0 0,156 0,484

(*)W1 e W2: Both readings obtained inserting 2 one-phase meters

(Aron System).

W1 e W2: H HeTprOELg £yvay Pe TNV TomoB£Tnon 2 LovodaoLKWY HETPNTWV

(obotnua Aron)
(**) Wa e Wr: Readings obtained with 2 3-phase capacitors (active and

reactive power).

W1 e W2: Ot LETPAOELG Eyvay e 2 TPLPACIKOUG TTUKVWTEG (EVEPYOG Kal
aepyog Loxug).

Capacitive load expected to be installed for a proper phase

shifting correction of a 3-phase asynchr. Motor at full load.

XwpnTiko Goptio MPEMEL va ival EYKATAOTAEVO YLa TV

S10pBbwaon g alayng pdoewg evdg acLyxpovou
Kwntrpa og TAApeg poprtio.




